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How~ coudd we shhow 2
wirole and 1 guorter?




A fraction can be split into wholes and parts.
WHAT U 4 guarters equal to?

WHY does tire wirole
honve 4 poarty here?

There are [j quarters altogether.

[:] quarters = Bwhole and D quarters.
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There are ___ guaxtery altogetirer.

__guartery = whole oney and _ gurarter.
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There avre =7 guartery altogetirer.

iwfwyz_z__w{/w(,e/mm guoqxters.




Write sentences to describe the part whole model.

There are D thirds altogether.

| ] thirds=[ |whole and[ |thirds.




Spolt the mistake.
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% = 10 wholes and 3 fifths
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Hran Hre denominator.
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There are 4 children at a party. Each whole sandwich is cut into 4 parts. The children eat 42 parts altogether.

How many whole sandwiches did they eat?

L Y2

They ate 11 whole sandwiches.

2 [

They ate 10 whole sandwiches.
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Y & Spiey: ANSWERS: Extension
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ANSWERS:
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There are 4 children at a party. Each whole sandwich is cut into 4 parts. The children eat 42 parts altogether.
How many whole sandwiches did they eat?




